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M. Com. (Previous) Examination, 2022
(Compulsory Group)

Paper Fourth
   STATISTICAL ANALYSIS

Time : Three Hours] [Maximum Marks:100

 


Note: Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

1 / Unit - 1

1. 


What do you mean by statistics? Discuss its scope
and limitations.

P.T.O.
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 OR





X- % % 

% 

Y- % % 

% 





In a survey about coffee habits in two towns the follow-

ing information is given :-

Town X- Females were 40%, total coffee drinkers

were 45% and not coffee drinkers were 20%.

Town Y- Males were 55%, male not coffee drinkers

were 30% and Female coffee drinkers were 15%.

Tabulate the above information and complete the table.
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2 / Unit - 2

2. 




 

 

 

 

 

 

 

 

 

 

 

P.T.O.
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Calculate Karl Pearson's co-efficient of correlation
between the ages of husband and wife -

Age of husband                   Age of wife























OR)
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


 

0-20 10

 

 

 

 

Total 94

Calculate Karl Pearson's coefficient of skewness from
the following informations. Given its mode is 54 and
arithmetic mean is 53.4

Marks No. of Students

0-20 10

 

 

 

 

Total 94

P.T.O.
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3 / Unit - 3

3. 


Out of 6 Indian and 4 Americans a committee of 5 is
constituted. Find the probability that there are exactly
two Indians in it.

 OR

 





(A) In a bag there are 1 black and 2 white balls in
another bag there are 2 black and 1 white ball. A
ball is drawn from the first bag and put into the
second and then a ball is drawn from the second
bag. Show that the chance that it is white is 5/12

           AB

        

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(B) A speaks truth 5 times out of 8 and B speaks
truth 3 times out of 8. What is the probability that
they will contradict each other in stating the same
fact?

4 / Unit - 4

4. 



 

 

 

 

 

 


 

EPV)



P.T.O.
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A newspaper distributor determines the demands for
the magazine based on 100 days as follows :

Copies demanded days

 

 

 

 

Total 

A copy of the magazine sell for Rs. 7 and cost of Rs. 6
what can be the maximum possible expected profit
value (EPV) if the distributor can return unsold copies
for Rs. 5 each?

 OR




Explain the various decision criteria used in decision
theory.
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5 (Unit - 5)

 




In the context of statistical quality control, discuss the
basic principles underlying control charts. Explain in
brief, how control limits are determined for different
control charts.

OR






A manufacturer finds that on an average 1 in 10 of the
items produced by him is defective. A few days later
he finds 20 items in a sample of 100 items are defec-
tive. Is the process out of control ? Give reasons for
your answer.


